



Vendor Ranking

Page 1 of 1

05220201 Letting: February 01, 2022 2:00 PM Call Order: 007 E5X26 Contract: Counties: BREVARD, DIST/ST-Fed Aid No: N/A District: District 5

WIDE, FLAGLER, LAKE, **Project(s):** 41232657226 (*) Contract Time: 90 CALENDAR DAYS MARION, ORANGE,

Contract Desc: Desilt & Video and Cleaning Drainage Structures OSCEOLA, SEMINOLE,

SUMTER, VOLUSIA

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ATLANTIC PIPE SERVICES, LLC	Responsive	Winning bid	\$181,760.52	100.00%
2	ENVIROWASTE SERVICES GROUP, INC.	Responsive	Non-Winning Bid	\$205,624.70	113.13%
3	USA SERVICES OF FLORIDA, INC.	Responsive	Non-Winning Bid	\$289,398.25	159.22%
4	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$310,314.00	170.73%
5	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$339,913.00	187.01%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

OSCEOLA, SEMINOLE,

SUMTER, VOLUSIA

Page 1 of 5

Letting:05220201February 01, 2022Call Order:007Contract:E5X26District:District 5Counties:BREVARD, DIST/ST-Fed Aid No: N/A

Contract Time: 90 CALENDAR DAYS

WIDE, FLAGLER, LAKE, MARION, ORANGE,

MARION, ORANGE,

Contract Descr: Desilt & Video and Cleaning Drainage Structures

FDOT District 5

Proposal ID No.: E5X26

Financial Project No.: 412326-5-72-26

Fiscal Year: 2022

County: Marion Calendar Days: 90

Lead Time: 14 Calendar Days

This is a Maintenance Pay Item Contract.

Intent: The work under this Contract includes desilting and video of drainage pipes and cleaning drainage structures in

various locations in Marion County.

various locations in interior county.									
Line No / Item I		Quantity Units	(1) ATLANTIC PI LL	•	(2) ENVIROWAS GROUP		` '	ERVICES OF DA, INC.	
() indicates item is	s bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION	N: 0001 (0	CLEAN DRAIN	NAGE STRUCTUR	ES (LF					
0005 0101 1 MOBILIZATION		(1.000) LS	8,775.00000	8,775.00	12,000.00000	12,000.00	4,000.00000	4,000.00	
0010 0102 1 MAINTENANCE OF	TRAFFIC	(1.000) DA (LS)	5,050.61000	5,050.61	5,000.00000	5,000.00	4,000.00000	4,000.00	
0015 E425 73 CLEANING MANHO (MECHANICAL)		2.000 EA	750.00000	1,500.00	250.00000	500.00	500.00000	1,000.00	
0020 E425 73 S CLEANING MANHO (MANUAL)		1.000 EA	750.00000	750.00	250.00000	250.00	3,000.00000	3,000.00	





Tabulation of Bids

Page 2 of 5

Letting	g: 05	5220201	February 01, 20	022 Cal	l Order: 007		Contract:	E5X26	
	No / Item ID Description	Alternate	Quantity Units	(1) ATLANTIC PI LL		(2) ENVIROWAS GROUP			RVICES OF DA, INC.
() inc	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0025 DESILT	E430 94 1 PIPE, 0 to 24"		13,995.000 LF	1.50000	20,992.50	3.00000	41,985.00	2.25000	31,488.75
0030 DESILT	E430 94 2 PIPE, 25-36"		9,332.000 LF	2.35000	21,930.20	3.75000	34,995.00	3.50000	32,662.00
0035 DESILT	E430 94 3 PIPE, 37-48"		2,834.000 LF	4.87000	13,801.58	5.95000	16,862.30	4.25000	12,044.50
0040 DESILT	E430 94 4 PIPE, 49-60"		4,019.000 LF	9.27000	37,256.13	9.00000	36,171.00	25.00000	100,475.00
0045 DESILT	E430 94 5 PIPE, 61" OR	GREATER	2,094.000 LF	13.45000	28,164.30	13.00000	27,222.00	25.00000	52,350.00
0050 STORM CAMER		PECTION (VIDE	32,252.000 EO LF	1.35000	43,540.20	0.95000	30,639.40	1.50000	48,378.00
		DRAINAGE S TURES (LF)	ection Totals:		\$181,760.52 ¹		\$205,624.70 [°]		\$289,398.25
		Contract G	rand Totals:		\$181,760.52		\$205,624.70		289,398.25





Tabulation of Bids

Page 3 of 5

Letting	g : 05	5220201	February 01, 2	022 Ca l	l Order: 007		Contract:	E5X26	
	No / Item ID Description	Alternate	Quantity Units	(4) SHENANDO CONSTRUC		(5) FLO ENVIRONME			
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0005 MOBILI	0101 1 ZATION		(1.000) LS	10,000.00000	10,000.00	2,500.00000	2,500.00		
0010 MAINTE	0102 1 ENANCE OF TI	RAFFIC	(1.000) DA (LS)	15,000.00000	15,000.00	4,000.00000	4,000.00		
	E425 73 1 ING MANHOLE ANICAL)	ES AND INLETS	2.000 S EA	1,815.00000	3,630.00	500.00000	1,000.00		
0020 CLEANI (MANU)		ES AND INLETS	1.000 S EA	3,630.00000	3,630.00	5,000.00000	5,000.00		
0025 DESILT	E430 94 1 PIPE, 0 to 24"		13,995.000 LF	1.00000	13,995.00	4.00000	55,980.00		
0030 DESILT	E430 94 2 PIPE, 25-36"		9,332.000 LF	2.50000	23,330.00	8.00000	74,656.00		
0035 DESILT	E430 94 3 PIPE, 37-48"		2,834.000 LF	6.00000	17,004.00	12.00000	34,008.00		
0040 DESILT	E430 94 4 PIPE, 49-60"		4,019.000 LF	12.00000	48,228.00	17.00000	68,323.00		
0045 DESILT	E430 94 5 PIPE, 61" OR	GREATER	2,094.000 LF	14.50000	30,363.00	22.00000	46,068.00		



02/11/2022

Tabulation of Bids

Page 4 of 5

Letting:	05220201	February 01, 2	022 Ca	II Order: 007		Contract:	E5X26	
Line No / Item ID Alternate Quantity Item Description Units			(4) SHENANDOAH GENERAL CONSTRUCTION, LLC		(5) FLOTECH ENVIRONMENTAL LLC			
() indicates ite	em is bid as Lump Sur	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	TON: 0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0050 E432 STORM SEWER CAMERA)	4 R INSPECTION (VII	32,252.000 DEO LF	4.50000	145,134.00	1.50000	48,378.00		
	LEAN DRAINAGE TRUCTURES (LF)	Section Totals:		\$310,314.00 [°]		\$339,913.00 [°]		
	Contract (Grand Totals:		\$310,314.00		\$339,913.00		



02/11/2022

Tabulation of Bids

Page 5 of 5

Letting: 05220201 February 01, 2022 **Call Order:** 007 **Contract:** E5X26

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.